

Informazione Regolamentata n. 20250-76-2025

Data/Ora Inizio Diffusione 29 Settembre 2025 17:45:11

**Euronext Milan** 

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

210398

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : REGEM

Data/Ora Ricezione : 29 Settembre 2025 17:45:11

Data/Ora Inizio Diffusione : 29 Settembre 2025 17:45:11

Oggetto : WEEKLY PRESS RELEASE ON TREASURY

SHARES BUYBACK PLAN

# Testo del comunicato

Vedi allegato









emarket sdir storage

CERTIFIED

Technoprobe S.p.A. Via Cavalieri di Vittorio Veneto. 2 23870. Cernusco Lombardone (LC) - Italy www.technoprobe.com

## PRESS RELEASE

## WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). September 29, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from September 22, 2025 to September 26, 2025, of n. 198,000 ordinary shares (equal to 0.03031% of the share capital) at the weighted average price of Euro 8.66838 for a total value of EUR 1,722,329.87.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
22/09/2025	0	///	///
23/09/2025	50,000	8.83099	441,549.50
24/09/2025	55,000	8.86206	487,413.30
25/09/2025	60,000	8.63007	517,804.20
26/09/2025	33,000	8.35039	275,562.87

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at September 26, 2025 the Company owns 10,255,261 ordinary shares (equal to 1.56986% of the share capital).

As a partial amendment to the weekly press release issued on 22 September 2025, it should be noted that as of 19 September 2025 the company held 10,057,261 treasury shares, equal to 1.53955% of the share capital, and not 9.970.258 treasury shares equal to 1.52622% of the share capital.

This press release is available on Technoprobe's website <a href="https://www.technoprobe.com">https://www.technoprobe.com</a> in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









#### Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

### Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

# **Technoprobe Group**

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZI69U9	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.835	250	2208.75
1ZAZI69UA	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	1,069	9449.96
1ZAZI69UB	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	3,760	33238.4
1ZAZI69UC	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	5	44.2
1ZAZI69UD	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	4,859	42953.56
1ZAZI69UE	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	5	44.2
1ZAZI69UF	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	3,240	28641.6
1ZAZI69UG	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	742	6559.28
1ZAZI69UH	23/09/2025	15:24:14	Buy	IT.ico	MTA	TPRO	8.84	1,070	9458.8
1ZAZI6D5T	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.82	250	2205
1ZAZI6D5U	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.82	308	2716.56
1ZAZI6D5V	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.82	427	3766.14
1ZAZI6D5W	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.82	1,388	12242.16
1ZAZI6D5X	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.82	25	220.5
1ZAZI6D5Y	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.83	250	2207.5
1ZAZI6D5Z	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.83	400	3532
1ZAZI6D60	23/09/2025	16:58:14	Buy	IT.ico	MTA	TPRO	8.83	1,952	17236.16
1ZAZI6D67	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.83	250	2207.5
1ZAZI6D68	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.83	844	7452.52
1ZAZI6D69	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.83	471	4158.93
1ZAZI6D6A	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.835	154	1360.59
1ZAZI6D6B	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.835	1,086	9594.81
1ZAZI6D6C	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.835	5	44.175
1ZAZI6D6D	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	250	2210
1ZAZI6D6E	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	953	8424.52
1ZAZI6D6F	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	3,950	34918
1ZAZI6D6G	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	3,864	34157.76
1ZAZI6D6H	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	720	6364.8
1ZAZI6D6I	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	867	7664.28
1ZAZI6D6J	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	869	7681.96
1ZAZI6D6K	23/09/2025	16:58:20	Buy	IT.ico	MTA	TPRO	8.84	717	6338.28
1ZAZI6D6V	23/09/2025	16:58:51	Buy	IT.ico	MTA	TPRO	8.815	5,000	44075
1ZAZI6DA0	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	1,057	9312.17
1ZAZI6DA1	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	374	3294.94
1ZAZI6DA2	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	25	220.25
1ZAZI6DA3	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	5	44.05
1ZAZI6DA4	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	283	2493.23









1ZAZI6DA5	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	301	2651.81
1ZAZI6DA6	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	5	44.05
1ZAZI6DA7	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.81	427	3761.87
1ZAZI6DA8	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.815	250	2203.75
1ZAZI6DA9	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.815	482	4248.83
1ZAZI6DAA	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.82	921	8123.22
1ZAZI6DAB	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.82	727	6412.14
1ZAZI6DAC	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.82	716	6315.12
1ZAZI6DAD	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.82	20	176.4
1ZAZI6DAE	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.82	3,136	27659.52
1ZAZI6DAF	23/09/2025	17:01:14	Buy	IT.ico	MTA	TPRO	8.82	1,271	11210.22
1ZAZI6OCR	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.88	250	2220
1ZAZI6OCS	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.88	820	7281.6
1ZAZI6OCT	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.885	1,688	14997.88
1ZAZI6OCU	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.89	250	2222.5
1ZAZI6OCV	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.89	791	7031.99
1ZAZI6OCW	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.89	1,248	11094.72
1ZAZI6OCX	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.89	4,906	43614.34
1ZAZI6OCY	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.89	3,850	34226.5
1ZAZI6OCZ	24/09/2025	13:34:27	Buy	IT.ico	MTA	TPRO	8.89	3,197	28421.33
1ZAZI6ODD	24/09/2025	13:34:44	Buy	IT.ico	MTA	TPRO	8.88	250	2220
1ZAZI6ODE	24/09/2025	13:34:44	Buy	IT.ico	MTA	TPRO	8.88	510	4528.8
1ZAZI6ODF	24/09/2025	13:34:44	Buy	IT.ico	MTA	TPRO	8.885	1,509	13407.47
1ZAZI6ODG	24/09/2025	13:34:44	Buy	IT.ico	MTA	TPRO	8.89	1,897	16864.33
1ZAZI6ODH	24/09/2025	13:34:44	Buy	IT.ico	MTA	TPRO	8.89	2,157	19175.73
1ZAZI6ODI	24/09/2025	13:34:44	Buy	IT.ico	MTA	TPRO	8.89	1,677	14908.53
1ZAZI6ODS	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.875	250	2218.75
1ZAZI6ODT	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.875	130	1153.75
1ZAZI6ODU	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.875	683	6061.625
1ZAZI6ODV	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.885	250	2221.25
1ZAZI6ODW	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.885	510	4531.35
1ZAZI6ODX	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.885	881	7827.685
1ZAZI6ODY	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.885	1,227	10901.9
1ZAZI6ODZ	24/09/2025	13:35:05	Buy	IT.ico	MTA	TPRO	8.89	2,069	18393.41
1ZAZI6OE8	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.875	250	2218.75
1ZAZI6OE9	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.885	250	2221.25
1ZAZI6OEA	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.885	2,157	19164.95
1ZAZI6OEB	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.89	210	1866.9









1ZAZI6OEC	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.89	250	2222.5
1ZAZI6OED	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.89	793	7049.77
1ZAZI6OEE	24/09/2025	13:35:18	Buy	IT.ico	MTA	TPRO	8.89	90	800.1
1ZAZI6QYX	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.81	250	2202.5
1ZAZI6QYY	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.82	693	6112.26
1ZAZI6QYZ	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.82	866	7638.12
1ZAZI6QZ0	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.82	821	7241.22
1ZAZI6QZ1	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.825	250	2206.25
1ZAZI6QZ2	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.825	213	1879.725
1ZAZI6QZ3	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.83	1,050	9271.5
1ZAZI6QZ4	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.83	3,795	33509.85
1ZAZI6QZ5	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.83	663	5854.29
1ZAZI6QZ6	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.83	3,205	28300.15
1ZAZI6QZ7	24/09/2025	15:28:19	Buy	IT.ico	MTA	TPRO	8.83	3,194	28203.02
1ZAZI6UOQ	24/09/2025	17:28:01	Buy	IT.ico	MTA	TPRO	8.785	1,239	10884.62
1ZAZI6UOR	24/09/2025	17:28:01	Buy	IT.ico	MTA	TPRO	8.785	500	4392.5
1ZAZI6UOS	24/09/2025	17:28:01	Buy	IT.ico	MTA	TPRO	8.785	3,261	28647.89
1ZAZI6ZLE	25/09/2025	09:57:17	Buy	IT.ico	MTA	TPRO	8.76	3	26.28
1ZAZI6ZLF	25/09/2025	09:57:17	Buy	IT.ico	MTA	TPRO	8.765	240	2103.6
1ZAZI6ZLG	25/09/2025	09:57:17	Buy	IT.ico	MTA	TPRO	8.765	26	227.89
1ZAZI6ZLH	25/09/2025	09:57:26	Buy	IT.ico	MTA	TPRO	8.765	731	6407.215
1ZAZI735L	25/09/2025	11:44:14	Buy	IT.ico	MTA	TPRO	8.68	1,000	8680
1ZAZI73PP	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.66	250	2165
1ZAZI73PQ	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.66	2	17.32
1ZAZI73PR	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.66	1,017	8807.22
1ZAZI73PS	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.66	120	1039.2
1ZAZI73PT	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.66	459	3974.94
1ZAZI73PU	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.665	126	1091.79
1ZAZI73PV	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.665	1,059	9176.235
1ZAZI73PW	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.665	131	1135.115
1ZAZI73PX	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.665	118	1022.47
1ZAZI73PY	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.67	747	6476.49
1ZAZI73PZ	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.67	131	1135.77
1ZAZI73Q0	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.67	829	7187.43
1ZAZI73Q1	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.67	126	1092.42
1ZAZI73Q2	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.67	115	997.05
1ZAZI73Q3	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.675	250	2168.75
1ZAZI73Q4	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.675	1,059	9186.825









TAZITYGS   2509/2025   12/07/29   Buy   Tilco   MTA   TPRO   8.675   8.544   4895/2     TAZITYGG   2509/2025   12/07/29   Buy   Tilco   MTA   TPRO   8.675   6.759   49959.33     TAZITYGG   2509/2025   12/07/29   Buy   Tilco   MTA   TPRO   8.675   6.4457   38664.48     TAZITYGG   2509/2025   12/07/29   Buy   Tilco   MTA   TPRO   8.675   6.4457   38664.48     TAZITYGG   2509/2025   12/07/29   Buy   Tilco   MTA   TPRO   8.675   6.440   36782     TAZITYGG   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.675   6.977   5178.975     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.599   144   1236.96     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.599   144   1236.96     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.599   104   893.88     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.69   333   8019.135     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.6   250   2150     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.6   250   2150     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.6   7.091   60982.6     TAZITYGC   2509/2025   15/43:55   Buy   Tilco   MTA   TPRO   8.6   7.091   60982.6     TAZITYGC   2509/2025   16/59:34   Buy   Tilco   MTA   TPRO   8.6   2.298   19762.8     TAZITYGC   2509/2025   16/59:34   Buy   Tilco   MTA   TPRO   8.59   234   2010.06     TAZITYCG   2509/2025   17/07:37   Buy   Tilco   MTA   TPRO   8.59   314   2697.26     TAZITYCG   2509/2025   17/07:17   Buy   Tilco   MTA   TPRO   8.59   314   2697.26     TAZITYCC   2509/2025   17/07:17   Buy   Tilco   MTA   TPRO   8.59   677   5643.63     TAZITYCC   2509/2025   17/07:22   Buy   Tilco   MTA   TPRO   8.59   677   5643.63     TAZITYCC   2509/2025   17/07:22   Buy   Tilco   MTA   TPRO   8.59   1518   3039.62     TAZITYCC   2509/2025   17/07:22   Buy   Tilco   MTA   TPRO   8.59   1518   3039.62     TAZITYCC   2509/2025   17/11:53   Buy   Tilco   MTA   TPRO   8.56   1,000   8560     TAZITYCH   2509/2025   17/11:53   Buy   Tilco	474717005	05/00/0005	40.07.00	-	ı <del></del> .	<b>.</b>	TDDG	0.075	· ·	40004.0
12AZI73Q7   25/09/2025   12:07:29   Buy   Ti.co   MTA   TPRO   8.675   5,759   49959.33   12AZI73Q8   25/09/2025   12:07:29   Buy   Ti.co   MTA   TPRO   8.675   4.457   38664.48   12AZI73Q9   25/09/2025   12:07:29   Buy   Ti.co   MTA   TPRO   8.675   4.240   36782   12AZI73QA   25/09/2025   12:07:29   Buy   Ti.co   MTA   TPRO   8.675   4.240   36782   12AZI73QA   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.595   250   2147.5   12AZI79CA   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.595   144   1236.96   12AZI79CB   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.595   104   893.88   12AZI79CC   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.595   933   8019.135   12AZI79CC   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.66   390   7998   12AZI79CF   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.66   390   7998   12AZI79CF   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.6   390   7998   12AZI79CG   25/09/2025   15:43:55   Buy   Ti.co   MTA   TPRO   8.6   2.298   19762.8   12AZI79CG   25/09/2025   16:59:34   Buy   Ti.co   MTA   TPRO   8.6   2.298   19762.8   12AZI7CSU   25/09/2025   16:59:34   Buy   Ti.co   MTA   TPRO   8.59   234   1029.56   12AZI7CSU   25/09/2025   16:59:34   Buy   Ti.co   MTA   TPRO   8.59   1.284   1029.56   12AZI7CSU   25/09/2025   16:59:34   Buy   Ti.co   MTA   TPRO   8.59   1.284   1029.56   12AZI7CSU   25/09/2025   16:59:34   Buy   Ti.co   MTA   TPRO   8.59   1.284   1029.56   12AZI7CSU   25/09/2025   16:59:34   Buy   Ti.co   MTA   TPRO   8.59   314   2010.06   12AZI7CSU   25/09/2025   17:00:37   Buy   Ti.co   MTA   TPRO   8.59   314   2010.06   12AZI7CGC   25/09/2025   17:00:45   Buy   Ti.co   MTA   TPRO   8.59   392   336.03   12AZI7CCG   25/09/2025   17:00:72   Buy   Ti.co   MTA   TPRO   8.59   15.18   3039.62   12AZI7CCG   25/09/2025   17:00:72   Buy   Ti.co   MTA   TPRO   8.59   15.18   3039.62   12AZI7CCG   25/09/2025   17:00:22   Buy   Ti.co   MTA   TPRO   8.59   15.18   3039.62   12AZI7CGU   25/09/2025   17:00:22   Buy   Ti.co	1ZAZI73Q5	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.675	5,544	48094.2
12AZI73Q8   25/09/2025   12:07:29   Buy   IT.ico   MTA   TPRO   8.675   4.457   38664.48     12AZI73Q9   25/09/2025   12:07:29   Buy   IT.ico   MTA   TPRO   8.675   4.240   36782     12AZI73QA   25/09/2025   12:07:29   Buy   IT.ico   MTA   TPRO   8.675   597   5178.975     12AZI79C9   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   250   2147.5     12AZI79CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   144   1236.96     12AZI79CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   144   893.88     12AZI79CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   933   8019.135     12AZI79CD   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150     12AZI79CE   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     12AZI79CE   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     12AZI79CE   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     12AZI79CG   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     12AZI7CSU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   234   2010.06     12AZI7CSU   25/09/2025   17:07:37   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26     12AZI7CSU   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   392   3367.28     12AZI7CCG   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   612   5257.08     12AZI7CCG   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   612   5257.08     12AZI7CCG   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   612   5257.08     12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   1.518   3039.62     12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   1.518   3039.62     12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   1.518   3039.62     12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.56   1.000   860     12AZI7COB   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1.00	1ZAZI73Q6	25/09/2025	12:07:29	Buy		MTA		8.675		7495.2
1ZAZIT3Q9	1ZAZI73Q7	25/09/2025	12:07:29	Buy		MTA	TPRO	8.675	5,759	49959.33
12AZI73QA   25/09/2025   12:07:29   Buy   IT.ico   MTA   TPRO   8.675   597   5178.975   12AZI79C9   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   250   2147.5   12AZI79CA   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   144   1236.96   12AZI79CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   933   8019.135   12AZI79CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   933   8019.135   12AZI79CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150   12AZI79CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150   12AZI79CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150   12AZI79CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   2.298   19762.8   12AZI7CSU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.6   2.298   19762.8   12AZI7CSU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   1.284   1029.56   12AZI7CSU   25/09/2025   17:00:34   Buy   IT.ico   MTA   TPRO   8.59   234   2010.06   12AZI7CCS   25/09/2025   17:00:34   Buy   IT.ico   MTA   TPRO   8.59   344   2010.06   12AZI7CCS   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   392   3367.28   12AZI7CCG   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   612   5257.08   12AZI7CCG   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   667   5643.63   12AZI7CCG   25/09/2025   17:07:12   Buy   IT.ico   MTA   TPRO   8.59   861   7:395.99   12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   677   5643.63   12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   861   7:395.99   12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   861   7:395.99   12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   1.518   13039.62   12AZI7CCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.56   1.000   860   12AZI7CCH   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1.000   860   12AZI7CCH   25/09/2025   17:12:53   Buy   I	1ZAZI73Q8	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.675	4,457	38664.48
1ZAZIT9CS   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   250   2147.5     1ZAZIT9CA   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   144   1236.96     1ZAZIT9CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   104   893.88     1ZAZIT9CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   933   8019.135     1ZAZIT9CD   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150     1ZAZIT9CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   930   7998     1ZAZIT9CG   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     1ZAZIT9CG   25/09/2025   16:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     1ZAZITCGU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     1ZAZITCGU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   1,284   11029.56     1ZAZITCGU   25/09/2025   17:00:37   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26     1ZAZITCGT   25/09/2025   17:00:37   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26     1ZAZITCCT   25/09/2025   17:00:17   Buy   IT.ico   MTA   TPRO   8.59   612   257.08     1ZAZITCCG   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   612   257.08     1ZAZITCCG   25/09/2025   17:07:12   Buy   IT.ico   MTA   TPRO   8.59   612   257.08     1ZAZITCCG   25/09/2025   17:07:12   Buy   IT.ico   MTA   TPRO   8.59   617   5643.63     1ZAZITCCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   15:18   13039.62     1ZAZITCCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   15:18   13039.62     1ZAZITCCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   15:18   13039.62     1ZAZITCCG   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.56   1,000   8560    1ZAZITCCH   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   8560    1ZAZITCH   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   8560    1ZAZITCOW   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   8560    1	1ZAZI73Q9	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.675	4,240	36782
1ZAZIT9CA   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.59   144   1236.96   12AZIT9CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   104   893.88   1ZAZIT9CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   933   8019.135   1ZAZIT9CD   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150   1ZAZIT9CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   930   70.998   1ZAZIT9CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   69982.6   1ZAZIT9CG   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   69982.6   1ZAZITCGU   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   2.298   19762.8   1ZAZITCGU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   1,284   11029.56   1ZAZITCGU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26   1ZAZITCGU   25/09/2025   17:00:37   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26   1ZAZITCGU   25/09/2025   17:00:37   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26   1ZAZITCGU   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   392   3037.28   3	1ZAZI73QA	25/09/2025	12:07:29	Buy	IT.ico	MTA	TPRO	8.675	597	5178.975
1ZAZI79CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.595   933   8019.135     1ZAZI79CC   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.695   933   8019.135     1ZAZI79CB   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   250   2150     1ZAZI79CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   930   7998     1ZAZI79CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     1ZAZI79CF   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   7.091   60982.6     1ZAZI79CG   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   2.298   19762.8     1ZAZI7CSU   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   1,284   1102.56     1ZAZI7CSY   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8.59   234   2010.06     1ZAZI7CSY   25/09/2025   17:00:37   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26     1ZAZI7CT   25/09/2025   17:00:45   Buy   IT.ico   MTA   TPRO   8.59   314   2697.26     1ZAZI7CC   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   612   5257.08     1ZAZI7CC   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   392   3367.28     1ZAZI7CC   25/09/2025   17:07:17   Buy   IT.ico   MTA   TPRO   8.59   667   5643.63     1ZAZI7CCA   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   861   7395.99     1ZAZI7CCB   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   1,518   13039.62     1ZAZI7CCC   25/09/2025   17:07:22   Buy   IT.ico   MTA   TPRO   8.59   1,518   13039.62     1ZAZI7CCB   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   860     1ZAZI7CH   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   860     1ZAZI7COK   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   860     1ZAZI7COK   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   860     1ZAZI7COK   25/09/2025   17:12:53   Buy   IT.ico   MTA   TPRO   8.56   1,000   860     1ZAZI7COK   25/09/2025   17:17:15   Buy   IT.ico   MTA   TPRO   8.56   1,000   860     1ZAZI7C	1ZAZI79C9	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.59	250	2147.5
TZAZIT9CC   25/09/2025   15:43:55   Buy   IT.lico   MTA   TPRO   8.595   933   8019.135	1ZAZI79CA	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.59	144	1236.96
Tazaita   Taza	1ZAZI79CB	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.595	104	893.88
Tazityce   25/09/2025   15:43:55   Buy   IT.ico   MTA   TPRO   8.6   930   7998	1ZAZI79CC	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.595	933	8019.135
Tazity   T	1ZAZI79CD	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.6	250	2150
TZAZITOGO	1ZAZI79CE	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.6	930	7998
TZAZITCSU         25/09/2025         16:59:34         Buy IT.ico         MTA         TPRO         8:59         1,284         11029:66           TZAZITCSV         25/09/2025         16:59:34         Buy IT.ico         MTA         TPRO         8:59         234         2010:06           TZAZITCKX         25/09/2025         17:00:37         Buy IT.ico         MTA         TPRO         8:59         314         2697:26           TZAZITCTY         25/09/2025         17:00:45         Buy IT.ico         MTA         TPRO         8:59         200         17:18           TZAZITCCS         25/09/2025         17:07:17         Buy IT.ico         MTA         TPRO         8:59         392         3367:28           TZAZITCCG         25/09/2025         17:07:17         Buy IT.ico         MTA         TPRO         8:59         392         3367:28           TZAZITCCG         25/09/2025         17:07:17         Buy IT.ico         MTA         TPRO         8:59         657         5643:63           TZAZITCCG         25/09/2025         17:07:22         Buy IT.ico         MTA         TPRO         8:59         15:18         13039:62           TZAZITCCG         25/09/2025         17:07:22         Buy IT.ico <t< th=""><th>1ZAZI79CF</th><th>25/09/2025</th><th>15:43:55</th><th>Buy</th><th>IT.ico</th><th>MTA</th><th>TPRO</th><th>8.6</th><th>7,091</th><th>60982.6</th></t<>	1ZAZI79CF	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.6	7,091	60982.6
TAZAITCSV   25/09/2025   16:59:34   Buy   IT.ico   MTA   TPRO   8:59   234   2010.06	1ZAZI79CG	25/09/2025	15:43:55	Buy	IT.ico	MTA	TPRO	8.6	2,298	19762.8
IZAZITCGX         25/09/2025         17:00:37         Buy         IT.ico         MTA         TPRO         8.59         314         2697.26           IZAZITCT7         25/09/2025         17:00:45         Buy         IT.ico         MTA         TPRO         8.59         200         17:18           IZAZITCCS         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         612         5257.08           IZAZITCCG         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         392         3367.28           IZAZITCCG         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         657         5643.63           IZAZITCCG         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         861         7395.99           IZAZITCCA         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           IZAZITCCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62	1ZAZI7C5U	25/09/2025	16:59:34	Buy	IT.ico	MTA	TPRO	8.59	1,284	11029.56
Tazitcti	1ZAZI7C5V	25/09/2025	16:59:34	Buy	IT.ico	MTA	TPRO	8.59	234	2010.06
IZAZITCC5         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         612         5257.08           IZAZITCC6         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         392         3367.28           IZAZITCC7         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         657         5643.63           IZAZITCC9         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         861         7395.99           IZAZITCCA         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           IZAZITCCB         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           IZAZITCCC         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZITCHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560 <th>1ZAZI7C6X</th> <th>25/09/2025</th> <th>17:00:37</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.59</th> <th>314</th> <th>2697.26</th>	1ZAZI7C6X	25/09/2025	17:00:37	Buy	IT.ico	MTA	TPRO	8.59	314	2697.26
1ZAZI7CC6         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         392         3367.28           1ZAZI7CC7         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         657         5643.63           1ZAZI7CC9         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         861         7395.99           1ZAZI7CCA         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCB         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         410         3521.9           1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560	1ZAZI7C77	25/09/2025	17:00:45	Buy	IT.ico	MTA	TPRO	8.59	200	1718
1ZAZI7CC7         25/09/2025         17:07:17         Buy         IT.ico         MTA         TPRO         8.59         657         5643.63           1ZAZI7CC9         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         861         7395.99           1ZAZI7CCA         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCB         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         4,10         3521.9           1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560	1ZAZI7CC5	25/09/2025	17:07:17	Buy	IT.ico	MTA	TPRO	8.59	612	5257.08
1ZAZI7CC9         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         861         7395.99           1ZAZI7CCA         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCB         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         410         3521.9           1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560     <	1ZAZI7CC6	25/09/2025	17:07:17	Buy	IT.ico	MTA	TPRO	8.59	392	3367.28
1ZAZI7CCA         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCB         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         410         3521.9           1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CNW         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560 </th <th>1ZAZI7CC7</th> <th>25/09/2025</th> <th>17:07:17</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.59</th> <th>657</th> <th>5643.63</th>	1ZAZI7CC7	25/09/2025	17:07:17	Buy	IT.ico	MTA	TPRO	8.59	657	5643.63
1ZAZI7CCB         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         1,518         13039.62           1ZAZI7CCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         410         3521.9           1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CI0         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CNM         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560	1ZAZI7CC9	25/09/2025	17:07:22	Buy	IT.ico	MTA	TPRO	8.59	861	7395.99
1ZAZI7CCC         25/09/2025         17:07:22         Buy         IT.ico         MTA         TPRO         8.59         410         3521.9           1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CI0         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560	1ZAZI7CCA	25/09/2025	17:07:22	Buy	IT.ico	MTA	TPRO	8.59	1,518	13039.62
1ZAZI7CHY         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CI0         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CNM         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04	1ZAZI7CCB	25/09/2025	17:07:22	Buy	IT.ico	MTA	TPRO	8.59	1,518	13039.62
1ZAZI7CHZ         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CI0         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CNM         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560	1ZAZI7CCC	25/09/2025	17:07:22	Buy	IT.ico	MTA	TPRO	8.59	410	3521.9
1ZAZI7CIO         25/09/2025         17:12:53         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CNM         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96	1ZAZI7CHY	25/09/2025	17:12:53	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7CNM         25/09/2025         17:16:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D5H         25/09/2025         17:25:51         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96	1ZAZI7CHZ	25/09/2025	17:12:53	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7COK         25/09/2025         17:17:15         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D5H         25/09/2025         17:25:51         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96           1ZAZI7K91         26/09/2025         11:19:10         Buy         IT.ico         MTA         TPRO         8.32         250         2080 <th>1ZAZI7CI0</th> <th>25/09/2025</th> <th>17:12:53</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.56</th> <th>1,000</th> <th>8560</th>	1ZAZI7CI0	25/09/2025	17:12:53	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7CPV         25/09/2025         17:17:42         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D5H         25/09/2025         17:25:51         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96           1ZAZI7K91         26/09/2025         11:19:10         Buy         IT.ico         MTA         TPRO         8.32         250         2080	1ZAZI7CNM	25/09/2025	17:16:42	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7D20         25/09/2025         17:24:18         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D26         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D5H         25/09/2025         17:25:51         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96           1ZAZI7K91         26/09/2025         11:19:10         Buy         IT.ico         MTA         TPRO         8.32         250         2080	1ZAZI7COK	25/09/2025	17:17:15	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7D26       25/09/2025       17:24:22       Buy       IT.ico       MTA       TPRO       8.56       1,000       8560         1ZAZI7D28       25/09/2025       17:24:22       Buy       IT.ico       MTA       TPRO       8.56       134       1147.04         1ZAZI7D3V       25/09/2025       17:25:12       Buy       IT.ico       MTA       TPRO       8.56       1,000       8560         1ZAZI7D5H       25/09/2025       17:25:51       Buy       IT.ico       MTA       TPRO       8.56       866       7412.96         1ZAZI7K91       26/09/2025       11:19:10       Buy       IT.ico       MTA       TPRO       8.32       250       2080	1ZAZI7CPV	25/09/2025	17:17:42	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7D28         25/09/2025         17:24:22         Buy         IT.ico         MTA         TPRO         8.56         134         1147.04           1ZAZI7D3V         25/09/2025         17:25:12         Buy         IT.ico         MTA         TPRO         8.56         1,000         8560           1ZAZI7D5H         25/09/2025         17:25:51         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96           1ZAZI7K91         26/09/2025         11:19:10         Buy         IT.ico         MTA         TPRO         8.32         250         2080	1ZAZI7D20	25/09/2025	17:24:18	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7D3V       25/09/2025       17:25:12       Buy       IT.ico       MTA       TPRO       8.56       1,000       8560         1ZAZI7D5H       25/09/2025       17:25:51       Buy       IT.ico       MTA       TPRO       8.56       866       7412.96         1ZAZI7K91       26/09/2025       11:19:10       Buy       IT.ico       MTA       TPRO       8.32       250       2080	1ZAZI7D26	25/09/2025	17:24:22	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
1ZAZI7D5H         25/09/2025         17:25:51         Buy         IT.ico         MTA         TPRO         8.56         866         7412.96           1ZAZI7K91         26/09/2025         11:19:10         Buy         IT.ico         MTA         TPRO         8.32         250         2080	1ZAZI7D28	25/09/2025	17:24:22	Buy	IT.ico	MTA	TPRO	8.56	134	1147.04
1ZAZI7K91         26/09/2025         11:19:10         Buy         IT.ico         MTA         TPRO         8.32         250         2080	1ZAZI7D3V	25/09/2025	17:25:12	Buy	IT.ico	MTA	TPRO	8.56	1,000	8560
	1ZAZI7D5H	25/09/2025	17:25:51	Buy	IT.ico	MTA	TPRO	8.56	866	7412.96
1ZAZI7K92 26/09/2025 11:19:10 Buy IT.ico MTA TPRO 8.325 4,712 39227.4	1ZAZI7K91	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.32	250	2080
	1ZAZI7K92	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.325	4,712	39227.4









1ZAZI7K93	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.325	3,889	32375.93
1ZAZI7K94	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.325	1,105	9199.125
1ZAZI7K95	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.325	4,289	35705.93
1ZAZI7K96	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.325	1,110	9240.75
1ZAZI7K97	26/09/2025	11:19:10	Buy	IT.ico	MTA	TPRO	8.325	4,645	38669.63
1ZAZI7SF7	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.385	250	2096.25
1ZAZI7SF8	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.385	223	1869.855
1ZAZI7SF9	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.385	100	838.5
1ZAZI7SFA	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.385	78	654.03
1ZAZI7SFB	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.385	67	561.795
1ZAZI7SFC	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.385	474	3974.49
1ZAZI7SFD	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.39	207	1736.73
1ZAZI7SFE	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.39	241	2021.99
1ZAZI7SFF	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.39	3,888	32620.32
1ZAZI7SFG	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.39	1,018	8541.02
1ZAZI7SFH	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.39	6,112	51279.68
1ZAZI7SFI	26/09/2025	16:10:55	Buy	IT.ico	MTA	TPRO	8.39	342	2869.38

Fine Comunicato n.20250-76-2025

Numero di Pagine: 9